Model Question Paper

Class-XII (Regular) (Session : 2020-21)
Subject-Geography
Time Allowed : 3 hrs Maximum Marks : 60
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Candidates are required to give their answer in their own words as far
as possible.
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Marks alloted to each question are indicated against it.
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Note: All Questions are Compulsory.
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Maps at world and India should be securely tied with answer-book.
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Show any four of the following on the outline maps of the world and India:
(i) Japan

(i) Sahara desert

(1ii) Nile river

(iv) North-South Corridor

(v) Indira Gandhi canal

(vi) Digloi oil field
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Multiple Choice Questions:

Do any ten questions from the followig given questions. Four
multiple choice anwers are given for every question. Write the
correct answer.
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Which country has the highest density of population?
(a) China (b) India
(c) France (d) Russia
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Which is known as golden fibre?

(a) Cotton (b) Sik

(c) Jute (d) Wool
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Shifting cultivation is also known as:

(a) Sedentary Agriculture (b) Jhuming Cultivation

(c) Plantation agriculture (d) Subsistance agriculture
IR & A= fmT 7 ot o | Srear 87
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North-South corridor connects the places?

(a) Srinagar-Kanyakumari  (b) Delhi-Chennai

(c) Jaipur-Selam (d) Delhi-Mumbai
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Which resource is known as ‘ White coal’?

(a) Atomic power (b) Thermal power

(c) Hydroelectricity (d) Petroleum
(vi) YR ¥ Ygelt SHen e ad gg?

(%) 1871 (&) 1881

() 1891 (&) 1861
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When was first census held in India?

(a) 1871 (b) 1881
(c) 1891 (d) 186l
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Which state of India has the highest crop-intensity?
(a) Gujrat (b) Punjab
(c) Haryana (d) Himachal Pradesh
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Push and Pull factors are responsible for:

(a) Migration (b) Dirty colony

(c) Land-degredation (d) Air pollution
(ix) 9d H TS *t Al et STees 1 1S ?

() 1947 (@) 1951

(1) 1940 (|) 1937

When was the Planning process started in India?

(a) 1947 (b) 1951

(c) 1940 (d) 1937
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Which continent has the highest annual population growth?
(a) Australia (b) Asia
(c) Afiica (d) Europe
(xi) 9RA H YA 61 TG SR HIF 91 572
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What is the main cause of migration in India?
(a) Livelihood (b) Marriage
(c) Recreation (d) Education
(xii)3TH | I =t wrEn 9 it § Hefug 72§72
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Which branch of geography is not related with human geography?
(a) Population geography (b) Economic geography

(¢) Physical geography (d) Political geography
1x10=10
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Discuss the factors influencing the distribution and density of popula-

tion in the world. 4
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Discuss the three stages of demographic transition with diagram. 5
. ¥R H =1t Ft 0 % o e i sRfefe, e qon
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Describe the favourable geographical conditions, production and
distribution for the cultivation of rice in India.
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What is rainwater harvesting? Describe the methods of rainwater

harvesting? 5
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Describe the various economic activities of human beings. Ex-

plain one Primary activity in detail.
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What is Tourism? Describe the factors affecting tourism. -
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Describe the factors responsible for dense network of railway in

great North plain. +
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13.

14.

Discuss in detail the pattern of Rural settlement. 4
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Suggest the measures of promotion of sustainability in Indira gandhi

canal command area. 4
. T & oy oo gHe 872

What do you understand by planning?
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What do you mean by sustainable development?
TS e O SATYeh 1 A §7

What do you mean by Human geography?
A foeht o =R T BE-FH 9 872

Name the four pillars of Human development?
9RA H =TS Fl STavashd #4) qed! 87

Why there is a need of irrigation of India?
it ford wFed 7

What is Settlement?

e TG 87

What is out sourcing?
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18.

ot 72 R feom WIRA % WAt % 09 waEy

Name the parts of India located on the east coast.
fermara & STt @ stfigre &2

What do you mean by sex-ratio?

A S(&dsT T BT T HRF g B &7

What are factors which effects human settlements?
YR % |EE! % 7 Hew B

What are the importance of mean of transportation?
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